Math 232 Calculus 2 Fall 21 Midterm 2b

Name: Sbm*lm$

e [ will count your best 8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes.
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(1) (10 points) Find / sin 5z cos 2z dz.
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(2) (10 points) Find /0053:1: de = j\ Cosx - c.a;ly(_ dl = jc@;{ ([-—Slhg(.)m
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(3) (10 points) Find f = \/mz_
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(4) (10 points) Find f : _2;)2(;5: 5
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{5) (10 points) Find ] e *sin(z) dz.
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(6) (10 points) Find the degree three Taylor polynomial for f(z) = sin(e*) cen-
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(7) Does the series Z converge or diverge? If it converges, find the exact
n=2

value.
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(8) Does the series Z Vi
n—=2

i ?
3 7§ converge or diverge?
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(9) Does the series Z
n=1
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\{f 5 converge or diverge?
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(10) Find the power series for f(z) = z cos(z?). What is the radius of convergence?
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